
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

Case MAG HC Side Plate R20-1410R11

Magnum Undertruss20-120112

Case MAG HC Side Plate L20-1410L13

7x7x6' tube, black20-102224

Saddle Conv. 20-180025

300 Saddle20-101126

400 Saddle20-101327

Step bottom Bracket30-190318

Step Handle 30-190219

1

1

2

2

A A

B B

3

1

2

4

5

Front

Case IH

Side Mount

Bolt List

QTY Description

Placement

12

5/8 x 5 1/2 Bolts

Side Plate to Tractor

24

3/4 x 2 1/2 Bolts

Side Plates to Undertruss

20

3/4 x 2 1/2 Bolts
Side plate to Tube

4

3/4 x 7 x 9 U Bolts

Conv to Tube

12

3/4 x 2 1/2 Bolts

Saddle to Conv

12 16mm Hardened Flat Washer

12

5/8 Nut

64

3/4 in Lock Washers

64

3/4 in Nuts

4

Nylon Straps

Tank to Saddle

7110,7120,7130,7140,7150

7210,7220,7230,7240,7250

8910,8920,8930,8940,8950

9

8

6 or 7

Price List
300 gal w/Tanks $6468.00 
400 gal w/Tanks $7168.00

Limitations may apply.  Please consult
API Sales at 800-288-1117.

300 ID:  CS-MAG-7189-8798-SMS-300R
400 ID:  CS-MAG-7189-8798-SMS-400R


